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QUESTION 1

What are two standard fiber-optic connectors? (Choose two.) 

A. Lucent 

B. rollover 

C. subscriber 

D. multidimension 

E. crossover 

Correct Answer: AC 

 

QUESTION 2

What is the primary method for recovering or upgrading a Cisco network device system image? 

A. USB storage 

B. FTP 

C. the tftpdnld command 

D. the xmodem command 

Correct Answer: C 

 

QUESTION 3

Which router port is used for dial-in access to the router for CLI management purposes and does not usually pass
normal network traffic? 

A. Fast Ethernet 

B. channelized serial 

C. AUX 

D. Gigabit Ethernet 

Correct Answer: C 

 

QUESTION 4

Which set of steps best describes how to assign a static IP address to the Ethernet port on a computer? 
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A. From the Network and Sharing Center, click Internet Protocol (TCP/IP), and follow the New Connection 

Wizard instructions. 

B. From the Network and Sharing Center, click Change adapter, then double-click a local area connection. Select
Internet Protocol (TCP/IP) > Properties > Use the Following Address, and then configure the IP information. 

C. Click Start. Enter cmd and click OK. Enter the IP address XXX.XXX.XXX.XXX. 

D. From the Network and Sharing Center, double-click Local Area Connection. Select Properties > iPass Protocol (IEEE
802.1x) > Properties > Static IP. 

Correct Answer: B 

 

QUESTION 5

The pins on an RJ-45 cable plug are numbered from 1 through 8. When the metal pins of the plug are facing toward
you, pin 1 is the leftmost pin. Which two sets of pins are looped on an RJ-45 56K loopback plug? (Choose two.) 

A. pins 2 and 7 

B. pins 2 and 8 

C. pins 2 and 5 

D. pins 1 and 7 

E. pins 1 and 4 

Correct Answer: CE 

 

QUESTION 6

When you deploy Cisco Catalyst 3850 Series switches, which two modes of operation can you choose from? 

A. Active mode and Standby mode 

B. Install mode and Bundle mode 

C. Boot mode and Run mode 

D. Exec mode and User mode 

Correct Answer: B 

 

QUESTION 7

Which type of transceiver module is used for 40 Gigabit Ethernet connectivity? 

A. SFP+ 
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B. GBIC 

C. QSFP+ 

D. XFP 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/products/interfaces-modules/40-gigabit-modules/
index.html#:~:text=The%20Cisco%20QSFP%20BiDi%20transceiver,10%20Gigabit%20Ethernet%20fiber%
20infrastructure 

 

QUESTION 8

Which two pieces of information about a neighboring device are displayed when you use the CLI command show cdp
neighbor? (Choose two.) 

A. platform 

B. uptime 

C. device ID 

D. Cisco IOS Software version 

E. IP address 

Correct Answer: AC 

 

QUESTION 9

Which bits represent the boot field in the configuration register value? 

A. highest two bits 

B. lowest two bits 

C. highest four bits 

D. lowest four bits 

Correct Answer: D 

 

QUESTION 10

Which two commands identify the serial number of a Cisco router? (Choose two.) 

A. show run 

B. show inventory 
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C. show environment 

D. show version 

E. show archive 

Correct Answer: BD 
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